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Q1. Examiner's Comment:

Quite well done. Some candidates were not at all well prepared for this question,
quite a few low answers. Several with 20/20 so the question was clearly do-able.
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Q2. Examiner's Comment:

A printing irregularity was noticed during reading time. This was fixed and no candidates showed
any sign of having been disadvantaged. Quite well done, but the geometry for part (d) escaped most
candidates. It is all about making the right small-angle approximations.
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sk789
Typewritten Text

sk789
Typewritten Text

sk789
Typewritten Text


; { A ‘
1 £) 3 (A9 4y Ry oy
=/

Q=5
i(}onq[bf,&,+ ——— ;
e & e, “(B“C)szf
Qe = B, ~ (C~a)wyu
&3 = C wj - (’4'--8)&)/ f\}L

(L) S{éwé sl © = 'Q'lj-‘ (@~ 6(7//:(‘)
O
7 (;‘)ZC\Q P

A
Cra el

perforb s W, = w,
W, =0 4w, ; .

é\)& :&/e

f:) :0\')3/

w} i3 f-i().&/ &
3
vy . )
s /i\w, _<8“~<)<J1 -Hué)w; - 7
R, -~<'qu) Y Neglect—fem
& / U3 bt)/’ = O e(’—o/*(;/.@q
= & w;g/du{,/

Cws” ~(a-B)w, (« tew,) =
Aw, —@B-c) @’ o
Qw'}/ __,C/_]._(;)__{L éd// O ]

3 w” -{-—@-~C)<Q"~A)__Q?j w’/ = 3
A
=0 !)ulL Gl >\1<,C)
¢ 1w o /'5’ Uqf/ué/{)
Aley o 0, raes §pypy

_/_ >\2 6J;/.

0 Cz;//
(f Ao



k__"m | %[%1«%”%:9_-%'__' o
o llﬂ(sﬂq-\ T 5§ jé *Q B

| e l\fﬂuaqw -q" ‘u’q"w Q | _
s il g . msa
é__ :_(“) Poxe P Qq __-._ o
g 20(1 99 * %_ ég_%__*%ﬁ_ Aw_ _[ro"/.]

%(:rﬂ for Q0 Y Pe0 ) , -

l .. A .
B A TR ) IR O TR X

v .
A ‘Tévq,

Q3 Examrners Comment 7
(a) Instability of a spinning rrgrd body. Bookwork and many rolled out a correct

answer Disappointingly many didn’t know Where to start'

~ (b) A good testing lagrange question on thebasics of Lagrange’s equations. Many got
~ lostintazy algebra, most commonly not differentiating correctly using chain rule. -
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Q3. Examiner's Comment:
(a) Instability of a spinning rigid body. Bookwork, and many rolled out a correct answer. Disappointingly many didn’t know where to start!.

(b) A good testing lagrange question on thebasics of Lagrange’s equations. Many got lost in lazy algebra, most commonly not differentiating correctly using chain rule.
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Q4. Examiner's Comment:

—————A-good Lagrange question.-Many errors-writing-down-potential energy,-though KEseemediobeOK;

~Many did well getting to the answer in 4(b) but many explained that the pendulum rod would buckle T
not sure how if it's under tension.
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A good Lagrange question. Many errors writing down potential energy, though KE seemed to be OK. Many did well getting to the answer in 4(b) but many explained that the pendulum rod would buckle – not sure how if it’s under tension.
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